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Answers to Pause-for-Thought Questions

Part J: The Macroeconomic Environment 
Chapter 26

If the average percentage (as opposed to the average level) of potential output that was unutilised remained constant, would the trend line have the same slope as the potential output line?

No, it would be less steep. The ratio of the vertical distance between the trend output line and the potential output line to the vertical distance between horizontal axis and the potential output line would have to remain constant (assuming that the vertical axis starts at zero).

Will the rate of actual growth have any effect on the rate of potential growth?

Yes. If businesses respond to increased actual growth by investing in new plant and equipment, this will increase the capacity of the economy to produce. Thus higher actual growth can lead to higher potential growth. Similarly, if the economy is in recession, with negative actual growth, firms may cut back on their investment: what is the point in investing in increased capacity, if they cannot sell all that they are currently producing? This cut-back in investment will lead to lower potential growth.

It is not only domestic firms that will respond to the current state of the economy and its prospects, but also foreign ones. A buoyant economy is likely to attract inward investment, which will increase potential as well as actual growth.

If this analysis is correct, namely that a reduction in wages will reduce the aggregate demand for goods, what assumption must we make about the relative proportions of wages and profits that are spent (given that a reduction in real wage rates will lead to a corresponding increase in rates of profit)?

That the proportion of profits that is spent is smaller than the proportion of wages that is spent. Thus a redistribution from wages to profits will reduce total expenditure.

Do you personally gain or lose from inflation? Why?

You will have to answer this for yourself! Whether you gain or lose will depend on (a) whether your income tends to go ahead of, or fall behind inflation; (b) whether you are a net borrower or saver, and whether the rate of interest is above or below the rate of inflation (if it is below, then the real rate of interest is negative and thus borrowers will gain and savers will lose); (c) just how inconvenient you find it to update your information on prices so that you can decide whether items are good value for money.

Give some examples of events that could shift (a) the AD curve to the left; (b) the AS curve to the left.

(a) If government reduces its expenditure, consumers spend less, investment drops and people abroad consume fewer of this country’s exports, then the aggregate demand curve will shift left.

(b) If labour productivity falls or the stock of capital declines then the aggregate supply curve will shift left.

Would this argument still hold if prices rose?

Money incomes would remain unchanged, but fewer goods could be purchased with it. Thus real incomes and output would fall. To keep output and real incomes the same (given that prices were rising), then either money would have to circulate faster, or extra money would have to be injected into the flow.

What effect will there be on the four objectives of an initial excess of withdrawals over injections?

If withdrawals exceed injections, GDP will fall. Other things being equal, this will have the following effects on the four objectives:

· Growth will be negative.

· Unemployment will rise.

· Inflation will fall.

· The current account of the balance of payments will tend to ‘improve’. The deficit will be reduced, or eliminated, or be transformed into a surplus. If it was already in surplus, the surplus will increase.

If a retailer buys a product from a wholesaler for £80 and sells it to a consumer for £100, then the £20 of value that has been added will go partly in wages, partly in rent and partly in profits. Thus £20 of income has been generated at the retail stage. But the good actually contributes a total of £100 to GDP. Where then is the remaining £80 worth of income recorded?

At the wholesale stage and earlier. Each stage adds value – value that is partly in wages, partly in rent, etc. When the values added at all the stages are summed, this gives the final value of the good.

Chapter 27

Where would interest payments on short-term foreign deposits in UK banks be entered on the balance of payments account?

As a debit on the investment income part of the current account. Payments of interest, profits and dividends are all elements in this part of the balance of payments account.

How did the pound ‘fare’ compared with the dollar, the lira and the yen from 1980 to 2001? What conclusions can be drawn about the relative movements of these three currencies?

Taking the period as a whole, the pound depreciated against the US dollar and substantially against the Japanese yen, but appreciated against the Italian lira. There were, however, fluctuations around this trend. There was, for example, an appreciation against the dollar between 1993 and 1998 and against the yen between 1995 and 1998.

The movements mean that over the period as a whole there was a decrease in demand for the pound relative to the dollar and yen, but an increase in demand for the pound relative to the lira. This in turn would suggest, other things being equal, that the rate of inflation was higher in the UK than in Japan and the USA but lower than in Italy. There are, however, other possible explanations for currency demand and supply shifts: these are examined in the text.

Go through each of the above reasons for shifts in the demand for and supply of sterling and consider what would cause an appreciation of the pound.

· A rise in UK interest rates relative to those abroad.

· A lower rate of inflation in the UK than abroad.

· A fall in UK incomes relative to those abroad.

· Better investment prospects in the UK than abroad.

· Speculators believe that the rate of exchange will appreciate.

· UK goods become more competitive (in terms of quality, etc.) than imported goods.

What problems might arise if the government were to adopt this third method of maintaining a fixed exchange rate?

It could invite retaliation from other countries, for example by imposing restrictions on UK exports to them. By reducing the total amount of international trade, it would reduce the benefits that flow from it. (For a discussion of the benefits of trade and of the advantages and disadvantages of trade restrictions, see Chapter 24, sections 24.1 and 24.2.)

If speculators on average gain from their speculation, who loses?

People buying or selling internationally traded goods who are not themselves speculating. For example, if speculation drives the exchange rate below what it would otherwise have been, then purchasers of imports will be paying a higher price than they otherwise would.

Chapter 28

Why are debit and credit cards not counted as money?

You do not exchange these cards for your purchases. They merely give access to the money in your account (in the case of debit cards) or to a loan (in the case of credit cards).

Why might a bank choose to reduce the proportion of liquid assets that it holds?

This would be most likely if the demand for cash fell as a proportion of people’s deposits. Over time this could occur as a result of a greater use of credit and debit cards or of direct debits and standing orders.

If banks choose to operate with a 5 per cent liquidity ratio and receive an extra £100 million of cash deposits: (a) What is the size of the deposits multiplier? (b) How much will total deposits have expanded after the multiplier has worked through? (c) How much will total credit have expanded?

(a) The deposits multiplier is 1/L (where L is the liquidity ratio, which in this case is 1/20) Thus the multiplier = 1 / 1/20 = 20
(b) £100m ( 20 = £2000m
(c) £2000 less the original extra cash deposit of £100m = £1900m
Identify the various factors that could cause a fall in the money supply.

The money supply might fall if:

· banks choose to hold a higher liquidity ratio, thereby forcing a cut-back in credit.

· there is a net outflow of funds abroad: i.e. a balance of payments deficit with the exchange rate not permitted to fall to correct it.

· the government runs a public-sector surplus. This reduces the total level of government debt and hence the likely level of government borrowing from the banking sector.

Which way is the demand-for-money curve likely to shift in each of the following cases? (a) Prices rise, but real incomes stay the same. (b) Interest rates abroad rise relative to domestic interest rates. (c) People anticipate that share prices are likely to fall in the near future.

(a) To the right. Money incomes will rise and so the demand for money will rise

(b) To the left. People will switch to holding other currencies where deposits can earn a higher rate of interest.
(c) To the right. People will sell shares and hold more money instead while they wait for share prices to fall.

What determines the amount that real output rises as a result of a rise in the money supply?

· The amount that interest rates fall as money supply rises. Interest rates will fall more, the less elastic is the demand for money (see Figure 28.3).

· The amount that investment and consumption increase in response to lower interest rates.

· The amount that money flows out of the country in response to the lower rate of interest and the amount that the exchange rate falls in response to this outflow.

· The more that exports rise and imports fall in response to the lower exchange rate.

· The amount that real output increases in response to the increase in aggregate demand (higher consumption, investment and exports and lower imports). This depends on the size of the multiplier and the degree of slack in the economy.

The bigger the effect described in each of the above, the bigger will be the effect on real output of an increase in money supply.

Chapter 29

Think of two reasons why a country might have a steep E line, and hence a high value for the multiplier.

Reasons include the following:

· The lower a country’s national income, the higher will tend to be its mpc and thus the higher will be its multiplier.

· In some countries there is much more of a ‘savings culture’ and thus the mps is higher. Those with less of a savings culture will tend to have a lower mps and hence a steeper E line and a higher multiplier.

· In some countries, especially large ones, international trade accounts for a relatively small proportion of national income. In such countries only a small proportion of any rise in income will be withdrawn into imports and a correspondingly large proportion will be spent domestically. Hence the E line will be correspondingly steep.

· The marginal tax rate differs from one country to another. The lower the marginal tax rate, the higher the proportion of any rise in gross income that will be spent and hence the steeper the E line.

If the money supply is cut by 10 per cent, what must happen to the velocity of circulation if there is no change in GDP at current prices?

If there is no change in GDP at constant prices then the fall in the money supply has been offset by an increase in the velocity at which money circulates round the economy. In other words, the amount of money in circulation is working harder. Referring to the formula MV = PY, if GDP at current prices (= PY) is constant, then a fall in M of 10% must be accompanied by a rise in V of 11.11% if MV is to remain constant. (Check this out with some figures.)

Assume that full-employment GDP is £500 billion and that current GDP is £450 billion. Assume also that the mpcd is 4/5. (a) Is there an inflationary or deflationary gap? (b) What is the size of this gap?

(a)
There is a deflationary gap, since current GDP is below full-employment GDP.

(b)
The gap is £10 billion. The reason is that actual GDP is £50 billion below full-employment GDP, but with a multiplier of 5 (since 1/1–mpcd = 1/1/5 = 5), only an additional £10 billion would need to be injected into the economy to bring actual GDP up to full-employment GDP. In other words, the E line only needs to be raised by £10 billion to yield an increase in GDP of £50 billion. (The gap is defined as the amount that the E line needs to be raised.)

What determines how rapidly the short-run Phillips curves in Figure 29.7 shift upwards?

The more that unemployment is kept below the natural rate (i.e. the more rapid the increase in aggregate demand) and the steeper the short-run Phillips curve, the more rapidly will the short-run Phillips curve shift upwards. In other words, the higher is point b in Figure 29.7, the more rapidly will inflation rise.

For what reasons would a new classical economist support the policy of the Bank of England publishing its inflation forecasts and the minutes of the deliberations of the Monetary Policy Committee?

This will make information more perfect and hence reduce unanticipated changes in aggregate demand, thereby reducing deviations of unemployment and output from the natural level. The increased confidence will then strengthen the supply side of the economy as the greater certainty encourages more investment and hence an increase in potential and actual output.

Under what circumstances would you expect a rise in GDP to cause a large accelerator effect?

· When the rise in GDP is considerably greater than during the previous time period.

· When a high level of investment expenditure is necessary to produce the required extra output.

· When there is little slack in the consumer goods sector (and hence extra investment is necessary to meet the rise in demand) but enough slack in the capital goods sector to meet the extra demand for investment.

· When investors are confident that the higher level of GDP will be maintained in the longer term and thus extra expenditure on building productive capacity will be worthwhile.

Why is it difficult to predict precisely when a recession will come to an end and the economy will start growing rapidly?

Many factors might influence the turning point of an economy: the level of spare capacity it might have; consumer and business confidence; random shocks; and the extent and nature of government and central bank intervention to influence aggregate demand. These factors are often difficult to predict.






















































